
1-8 88 75 63 50 38 25 13 0

1) 37,889 + 18,151 =

37,889 47,889 55,889 55,989 56,039 56,040

+10,000 +8,000 +100 +50 +1

2) 60,509 + 28,199 =

60,509 80,509 88,509 88,609 88,699 88,708

+20,000 +8,000 +100 +90 +9

3) 61,514 + 34,506 =

61,514 91,514 95,514 96,014 96,020

+30,000 +4,000 +500 +6

4) 18,003 + 10,401 =

18,003 28,003 28,403 28,404

+10,000 +400 +1

5) 47,749 + 33,230 =

47,749 77,749 80,749 80,949 80,979

+30,000 +3,000 +200 +30

6) 55,912 + 41,050 =

55,912 95,912 96,912 96,962

+40,000 +1,000 +50

7) 75,607 + 22,184 =

75,607 95,607 97,607 97,707 97,787 97,791

+20,000 +2,000 +100 +80 +4

8) 43,009 + 35,823 =

43,009 73,009 78,009 78,809 78,829 78,832

+30,000 +5,000 +800 +20 +3

1. 56,040

2. 88,708

3. 96,020

4. 28,404

5. 80,979

6. 96,962

7. 97,791

8. 78,832

     

Solve each problem.

Addition Using Open Number Lines
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Answer Key

1-8 88 75 63 50 38 25 13 0

1) 37,889 + 18,151 =

37,889 47,889 55,889 55,989 56,039 56,040

+10,000 +8,000 +100 +50 +1

2) 60,509 + 28,199 =

60,509 80,509 88,509 88,609 88,699 88,708

+20,000 +8,000 +100 +90 +9

3) 61,514 + 34,506 =

61,514 91,514 95,514 96,014 96,020

+30,000 +4,000 +500 +6

4) 18,003 + 10,401 =

18,003 28,003 28,403 28,404

+10,000 +400 +1

5) 47,749 + 33,230 =

47,749 77,749 80,749 80,949 80,979

+30,000 +3,000 +200 +30

6) 55,912 + 41,050 =

55,912 95,912 96,912 96,962

+40,000 +1,000 +50

7) 75,607 + 22,184 =

75,607 95,607 97,607 97,707 97,787 97,791

+20,000 +2,000 +100 +80 +4

8) 43,009 + 35,823 =

43,009 73,009 78,009 78,809 78,829 78,832

+30,000 +5,000 +800 +20 +3

1. 56,040

2. 88,708

3. 96,020

4. 28,404

5. 80,979

6. 96,962

7. 97,791

8. 78,832

     

Solve each problem.

Addition Using Open Number Lines
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Modified 1-8 88 75 63 50 38 25 13 0

1) 37,889 + 18,151 =

37,889

+10,000 +8,000 +100 +50 +1

2) 60,509 + 28,199 =

60,509

+20,000 +8,000 +100 +90 +9

3) 61,514 + 34,506 =

61,514

+30,000 +4,000 +500 +6

4) 18,003 + 10,401 =

18,003

+10,000 +400 +1

5) 47,749 + 33,230 =

47,749

+30,000 +3,000 +200 +30

6) 55,912 + 41,050 =

55,912

+40,000 +1,000 +50

7) 75,607 + 22,184 =

75,607

+20,000 +2,000 +100 +80 +4

8) 43,009 + 35,823 =

43,009

+30,000 +5,000 +800 +20 +3

1. 56,040

2. 88,708

3. 96,020

4. 28,404

5. 80,979

6. 96,962

7. 97,791

8. 78,832

     

Solve each problem.

Addition Using Open Number Lines
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